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The correct answer is choice (D) 3. The value of 3°*
is 27 and the value of 32 is £, and 27 ﬂmes% is3.
Choice (A) is incorrect because it multiplies the
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numbers instead of using the powers. Choices (B) and
(C) are incorrect because they do not use the negative
exponent correctly.
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Item 13

Exemplar Response

Points.

Sample Response

Part A: 4.2 x 10% grams
AND

Part B: 1 x 10 grams
AND

Part C: Brazil consumes more rice than the United States.

'AND
Because 1 x 10 is more than 4.2 x 102, Or other valid explanation.

‘The student correctly answers three of the four parts.

‘The student correctly answers two of the four parts.

‘The student correctly answers one of the four parts.
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Response s irrelevant, inappropriate, or not provided.

Note: If a student makes an error in one part that is carried through to subsequent parts, then the student
is not penalized again for the same error.





image1.png
Item 1.
Selected-Response: 1 point

Sofia read that there are approximately 2 x 10%* stars in the Milky Way Galaxy. She also read that
there are approximately 3 x 10 stars in the entire universe.

How many times the number of stars in the Milky Way Galaxy is the number of stars in the universe?

A 15x10°
B. 1.5x10%
C. 6x10%
D. 6x10%
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Item 4
Selected-Response: 1 point
An expression is shown.

What is the value of the expression?

A -54
B. -243
C. 243
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Item 13
Extended Constructed-Response: 4 points.

The United States has an approximate population of 3 x 10° people. Each person in the United States.
consumes an average of about 14,000 grams of rice per year.

Brazil has an approximate population of 2 x 10° people. Each person in Brazil consumes an average
of about 5 x 10 grams of rice per year.

Part A About how much rice does the United States consume each year? Write your answer in the
space provided.

Part B About how much rice does Brazil consume each year? Write your answer in the space
provided.

PartC Which country consumes more rice each year? Show or explain your work. Write your answer
in the space provided.

Part A

PartB

Part C
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MATHEMATICS ADDITIONAL SAMPLE ITEM KEYS

tern | “coment | Lowt | Avower e
The correct answer is choice (B) 1.5 x 10*%. To divide
numbers in scientific notation, divide the coefficients
and subtract the exponents of the common base.
Smoe% 5 and 22 - 11 = 11, the quotient is
+ | vesesees N N 1.5 x 10" Choice (A) is incorrect because it s the

result of dividing the exponents instead of subtracting.
Choice (C) s incorrect because it is the result of
multiplying 3 x 2 instead of dividing. Choice (D)

is incorrect because it is the product of the two
quantities.





